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GENERAL INSTRUCTIONS

Read the instructions carefully before answering

1. Please fill up your Roll No. and class in the box provided on the OMR sheet.

2. This question booklet contains 50 questions and 5 Tie Breaker questions. All
questions including ‘Tie Breaker Questions’ are mandatory. Tie Breaker questions will
be evaluated only in case of a Tie.

3. Each question carries 2 marks.

4. Each question has 4 answer choices a, b, ¢, d.

5. For each question, select the best/correct option and darken the bubble completely
against the corresponding question in the OMR sheet provided.

6. Use a blue/black ball point pen to darken the bubble.

7. Darken only one bubble against each question.

8. There will be no negative marking.

CHOOSE THE CORRECT ANSWER
| ER is my library book?
a) Where b) What c¢) When d) Why
2. I usually take the bus to school.......... today my mom drove me.
a)nor b)so c)but d) for
3. Find the plural of ' STOREY" from the options.

a) STORY. b) STORIES. c) STOREYS d) STORE

4. They usually spend their holidays in....... mountains.
a)a b) an c) the d) no article
5. Whenever Lucy goes, ......... makes friends easily.
a) she b) he c) hers d) them
6. We must show........ towards animals.

a) action b) kindness c¢) cruelty  d) honesty
7. Teena and Seema —-- on the fourth floor.

a) lives  b)live c) living d.) lived



8. Six bus tickets cost ¥300. Find the cost of 1 ticket.
a)45 b)40 c¢)35 d)50
9. Find the Dividend if the divisor is 12, quotient is 10 and the remainder is 9
a)78 b)108 «¢) 129 d) 120
10. The sum of the smallest 4-digit number and the greatest 2-digit number is
a) 1990 b) 1099 c¢) 2000 d)9999
11 The number 1000 more than 56789 is

a) 66789  b) 57789  ¢)67789  d) 55789

12. A water tanker contains 5500 buckets of water. 2551 buckets of water are supplied to a
colony. How many buckets of water are left in the tanker?

a) 3949 buckets b) 2949 buckets  ¢) 5989 buckets. d) 1948 buckets

13. Mr. Uday stays far from his office. It takes 10 minutes for him to walk to the station, 50
minutes in the train and 15 minutes by car to reach his office. If he leaves his house at 8: 30
am, what time will he reach his office?

a)9:05 am. b)9: 15 am. ¢)9:30 am. d) 9: 45 am

14. The difference between two numbers is 16. If one number is 1005, what is the other
number?

a)984 b)988 c¢) 1021 d) 889
15. The smallest 5 digit number is --------
a) 11,111 b) 10,000 c¢) 22,222 d) 11,000
16. Which of the following options has the minimum sum of the place values of 2 and 3?
a) 2341 b) 2431 c)2413 d) 3241

17. To which state does Madhubani painting belong?
a)Bihar b)Delhi c)Rajasthan  d)Uttarakhand

18. The Green substance that helps plants trap sunlight is
a) Chlorophyll b) Stomata  c) Veins d) Starch

19. The hardest substance in the Human body is
a) Hair b) Nails c¢) Bones d) Enamel



20. The type of soil that is best suited for plant growth is
a) Loamy soil b) Sandy soil c) Clayey soil d) Rocky soil
21.  Animal which gives birth to babies.
a) duck b) hen c) bat d) peacock
22. Insects which live in colonies.
a) honeybees b) mosquitoes c¢) houseflies d) dragonflies
23. Bird of prey

a) pigeon  b) parrot ¢) humming bird d) owl

24.  Pulses are very rich in ........... ?
a) fat b) proteins c) minerals d) carbohydrates
25.  The natural home of an animal is called its.......... ?
a) House b) nest ¢) habitat d) water

26. On a map water bodies are always shown in
a) Yellow b)green c¢)blue d)dark brown

27. In which state are Valsad, Gandhi Dham, and Ahmedabad situated?
a) Gujarat b) Maharashtra c¢) Kerala d) Uttar Pradesh
28.Who drives the train ?
a) pilot b) driver c) motorist d) loco pilot
29. How many players are there in a Kabaddi team?
a)5 b) 7 c) 8 d) 11
30. Which is an individual sport?
a) hockey b)cricket c¢) swimming d) volleyball
31. A tunnel goes right through a
a) mountain b) forest c¢)city d)town
32. Madgaon is in the state of
a) Maharashtra b) Gujarat c) Madhya Pradesh d) Goa
33. In which month does the Litchee tree bloom?
a) January b) February c¢) March d) December

34. The festival to celebrate tree planting is called



a) Chhat b) Vijayadashami c) Janmotsav d) Van Mahotsav
35. You can vote in the elections if you are ---- years old.
a.10 b.18 c.15 d. 21
36. Who wrote the book ¢ Discovery of India’ ?

a) Sardar Patel. b) Rabindranath Tagore c) Jawaharlal Nehru d) Mahatma Gandhi

37. Liquid gold is another name for
a) Copper  b) Natural gas  c) petroleum  d) limestone
38. Which of the following is not a union territory?
a) Ladakh b) Chandigarh c¢) Jammu & Kashmir d) Sikkim

39. How many hours does the earth take to complete one rotation?

a.12 b.24 c.36 d.48

40. Complete the pattern given below.
497, 498, 500, ....., 507, 512
a)503 b) 501 c) 502 d) 504

41. In a certain code, TOM is written as 523 MOP is written as 321, then what will be the
code for TOP.

a) 125 b) 521 ¢) 123 d) 325

42. Answer the riddle.
[ am a liquid.
I have a pleasant smell.
If you use me, you will be safe.
Coronavirus is afraid of me.
Who am 1?
a) Mask b) sanitizer c) perfume d) oil

43. Mrs Sharma bought 100 marbles. She gave her son Anup 65 marbles and his friend
Asif 35 marbles. But Anup wanted to share the marbles equally with his friend.
How many marbles should he give to Asif ?
a) 30 b) 15 c) 45 d) 40

44. Unscramble the words and choose the correct answer: TONAFUNI
a) FONUTAIN b) FOUNTIAN ¢) FOUNTAIN d) FOANTIUN



45. Teacher: Student, Doctor:

a. Syringe b. Stethoscope c. Thermometer  d. Patients

46. If you had only one match and entered a cold and dark room, where there was
oil heater, an oil lamp and a candle. Which would you light first?
a) Candle b) the match c) oil heater d) oil lamp

47. Mary’s father had 5 children Mimi, Mumu, Mama, Meme. What was the name of

the 5™ child?

a) Morie  b) Mami c¢)Mary d)Moma
48. Rita is taller than Nita and shorter than Gita. Nita is taller than Dolly only. Who is the
tallest?

a) Nita b) Gita c) Rita d) Dolly
49. If you rearrange the letters "BARBIT," you would have the name of
a) Animal b) Country c) State d) City

50. Which of the following can be arranged into a 5 — letter English word
a). HRGST  b). WQRGS c). BDFMZ d). OEHPN

TIE-BREAKER

51. the two I prefer tea.

a) From b) In c) Between d) Among

52. Find the place value of 7 in the number, that is obtained when 296 is subtracted
from 1000.
a) 700 b) 70 c)7 d) 704

53. The Date changes when you cross the
a) Prime Meridian b) International Date Line c¢) Equator d) North pole

54. Which device measures the speed of wind?
a) Barometer b) Anemometer c¢) Thermometer d) Micrometer
55. The Highest Plateau in the World is

a) Deccan plateau b) Malwa plateau c) Chota Nagpur plateau d) Tibetan plateau

ok ok o ok o s ok ook sk sk sk koo skok sk



